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Itis raining. } Both are independent clauses, simple sentences.
We have an umbrella

Add because to it is raining.
because it is raining} This is no longer an independent clauses, simple sentences. Put the two clauses together
Because it is raining, we have an umbrella.

OR
We have an umbrella because it is raining.
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I can't remember where | put the house key. ( noun clause; direct object of remember)
It's not in the place where | usually put it. ( adjective clause; tells which place )
| always put it where | will see it when | go out the front door. ( adverb clause; tells where I put it)
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